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)��� ��
	���������	
����
	
�������������	��	���
���	%#	��� �����	 ����(���	���������	
���*+	  ,-	.*/*0#+1	���-	2*/34*+#%5	���-	 f=0,12; f1=0,36; Q*+6	  H�	 )	 �����'����	 ���� �����	
�������
	 ���������	 
����
	 
�������������	 ��	 ������	 �������!�	 �������	 ��*+1#++	  ,�	 )	
�����7�	 +	 ���� �������	 ��������	 ���������	 
����
	 
�������������	 ���	 �����������	
����(��!�	� ���
 ����

8����7�	+	– ,��������	
����
	
������������� ���	�����������	����(��!�	� ���
 ���
)��	��������� 9�������#	 ,

,��������	����	�� ��	������	��	����������#	��� 2,2
,��������	�� ��	�!������	
�������� ��!�	 ������#	��� 6,81
,��������	�� ��	�����!�	 �������	�������!�	� ���
 ���#	��� 8,01
:����'����(���	���������	
����
	
�������������#	�� 14,11

;���������#	 ����������	 �����'����	
����	  �����'	 �����#	 ���	 ���	 �� ��(���
	 ��������
	
��!�����	 
����
	 
�������������	 0%	  ,#	 �����������'���	 �<	 ���������	 ���	 �����������	
����(��!�	 � ���
 ���	 ��������'��	 
��'��	 ��������
	 ��!�����	 ��
�����������
	 �����#	 ���	
��� �����	 
���
��'��(	 ������� �'	 �	 ���7�  �	 ���
��������	 ��
�����������
	
����������������
	�����	���'��
	����
��
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������������
	 ����	 ��������(�	�� �����
	���	� �����
	!��������
	����������7�����	�	

������'��
	 ���	 ���� �����
	 �� �����	 ���	 ��!������� [1=�	 >�	 ��������
��	 � ��
���	 �	
��
 ���(	
� ��#	�����	�	���'��� ���	��!����� ���	�� ���������
�	?����
	�� ���������
	���	
������������!�	  �����	 ������ �	 �����	 )	 ���� �
� ��	 ��	  ������	 !��������	 �	  ���������	
��������!���������	 �7�������	 !����	 ������������
	  ����	 ��-�����
�	 �� ������� �	 �	 �����	
���	 ���������	
����	%@	�7�������	 !����	������������
	 ����	��	�� ������� �	�	�������
	
����#	��	��!��	�� ������� �	���	��!�������	��	560A	#	���	 ���������	�7�������	!����	46@	��	
�� ������� �	 �	����	���	160A�	:� �����
� �'	������������!�	 �����	�	 ����	 �����	 ���� ��	��	
 �������!������ ���	A������������ ��
	������������
	 ����	��	�� ������� �	�	�������� ��	��	
��������	�	����	���	��!�������	��	B%0A�	������������
	 ����	���
�!���� �	���	��!�������#	��	
��	 ������ �	 ���	 �������	 � �������	 ���	 ������'��
	 ��!�������	 ��	 +C6-1700

1 1

0( ) .
f f

� �� � � � � � � �� �� �� � � � � �	 


A	 ��	 ������	
 �� ���� �'	�� ������' �	�	����	� ��� ����	��!������7��	�	��� ������	������������
	 ����	
�
���	 ������(	 ��!���(	 �	 ��������
	 
��������
#	 ����� ����#	 ��������	 ������
	
��
� ���� ��
�� �'(	 �	  ��
�� �'(	 �	 ��� ����(	 [1=�	 ,��� �����
	 ������������!�	  �����	
������ �	 ������	 ���!� ��
�� �'#	 ������(	 
����	 � ������'	 ���	 ��
���	  ������	 A�����	
������������!�	  �����	 
����	 ���'	 � ��� ������	 ����
�	  ����(��
�	 �!����
�	 ����	
�������!������
	 �	 �������
	  ����-	 ����'��!���
�	 $!��������
#	 �������
#	 �����������
#	
������7����'��'��!���
&�	 �� ��
	  �����	 8����	 �	 ���� ���	  ����(���	 �!�����	 
�!��	
� ���'�����' �	 ��������#	 
���������#	 �������������	 �� ����	 �	 D-� ������������	 E4,3]. 
,��� �����
�
	 �	 ����	 ������������
	  ����	 
����	 �������'	 ���������
	 �!�	 �� �����
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�� ����
	 ���	 ��!�������#	 �����������	 �����7������
�	 ���	 ��!�������
	 ������������!�	
 �����	 	���������� ��
�	�������
�	2	 -�������� ��'���� �����

A����
	 ������������
	  ����	 �������	 ���
������	 �	 ��!��
	 ���
������� ��	 �	 ���� ���	
����������!�	
�����������	���������	���	�������� ���	
��� ��-�������	E1=�		>�	
����	��
��	
���
������	�	
���7���	�	���� ���	!�������'��!�	�� �����	���	�

�������7��	���
�����	[2], 
�������� ���	 
�����7��������!�	 ���������	  	 �������7����
	 ��
 ����
	 ���	 �����!��	 E%=�	
F�������
��	 ��� ��������
�	 ����(� �	 �����������	 ��	 � ����	 ������������!�	  �����	  	
�������7����
�	 ��
 ���
�#	����������	
�����
	������� ������!�	EC].

)	 ������ [7=	  ������������	  �����	 ����������� �����	  	 ��������
	  ����������
	
������������!�	 �����	�	��������
	�� ����	�	�  ��������	��	���������	�	����

)	�� �����
	������	 ������������	�����7�	������������!�	 �����	 ����!�	�� ������
�	
�����������
�	�� ����
�	�	�  ��������	�!�	��������	���������	�	 ���������	!��'-����7���

)	���� ���	 ����(���	�!�����	� ���'������	 ����(���	������������	�� �����	���������#	

��������#	��������# !���������#	�����������

,��� ��	 ������������!�	  �����	 �� �������	 �	 ����	 ���	 ��!�������	 ��	 ������
	 �����	 "	
���������
�	 �� �����	 ���������	 �����
	 �� ����	 �����������
	 �� �����	 ,�	 6�61	 
��'	
������������!�	 �����	�����	5�%G+6-4 
��'	�����������
	�� �����	 	:� ����	��������	�	�����	
�����	 �	 �� �������	 ��	 ��������	 	 A�����	 ������	 ������������!�	  �����	 ���������	 ���	
��!������� �	 ��������
	 ������������	)����'	H�-40-0	 	���!��

��������
	��!����������
	
��
��������	 	��!�
	+0A	�	���
���
	+	
�����, ���	+060

>����7�	������	����������	��	��������� ���	�� ��#	��!������	�		�� ������������(	����	�	
����������	 �����	 ������������	 ���
������	 ���
����	 	 A�����'	 ��������� ����������	 ��	
���
����

A	�	������� +6	
����.

�=(m-m0)/m0×100,

!��	� –  �����'	���������, %; m – 
�  �	����
���	�� ��	���������#	!- m0 –
�  �	����
���	
��	���������#	!�

A���� �'	���������	��
������� �	 ���� �'(	����
��
	��������	��
��������	 � ��
�	�	���	
����
����#	 ��������� �	 �	 �� ������ ���� ��
	  � ������#	 ������	 ��������������'��	
��� ����� �	�������� ��
	���������
	�����!�	��������

v=da/dt=k(�max – �),

!��	v –  ���� �'	���������#	@3 #	k – ��� �����	 ���� ��	���������#	 -1, �max – 
�� �
��'���	
 �����'	���������#	@# t-���
�	���������#	 �	I���!�����	������	���������	�������
	���������	
���	�� ����	��� �����	 ���� ��	����������

k =1/t ×ln �max /(�max – �)

,��������	 �����7��	 ������������!�	  �����	 ��� ����� �	 ���������
	 �����!�	 ��������	 A	
� ���'�������
	 ��
�'(�����
	 ���!��

�	 
�����
	 ���
��'���	 ���������	 ����������	
��������	��� ����	 ���� ��
	����������	A���� �'	���������	��  ������		���	���
���	+6	
���	

>����������	 !��'-����7��	 ���������	 
��!�������
	 �� ����7��
	 �����7��	  ����!�	
������������!�	  �����	 ����
	 ���	 ��
�����
	 ��
���������	 ������	 �� �������	 ��	 �������#	
���!������	���	+060A	�	�������	+6	
����	�	����������	��	��������� ���	�� ���	"������� ���	
����
����	���������	 ������	�	�����7��

8����7�	– "������� ���	����
����	���7�  �	���������	 ����!�	������������!�	 �����

J "� ���� � max,,% v #	@3 k��� H��'–����7��#	@-1

1 K�������� 135 8.74·10 6.72·10-5 87-4

2 L�������� 64 8.14·10 2.22·10-4 91-3

3 M������� 62 3.97·10 1.19·10-5 90-3

4 H��������� 61 3.08·10 1.23·10-5 90-3

5 ;��������� 58 3.57·10 1.34·10-5 91-3

"��	�����	��	������	�����7�	
�� �
��'���	 �����'	���������	�
��'���� �	 	����������
	
�� ��	���
��	�!������	�	 ����(��
	�!�����	

,�������	 �� ����	 �� �������	 ������� ��	 ���������	 ����(���� �	 �	 �����7��	  �����	

Витебский государственный технологический университет



��������	
��
�����
�7 ������������� ������-��������
��

����������
��������������
�
���������

�������	
�14 281

!��������
	 �� ����
�	 A���������	 !��'-����7��	 �	 ������������
	  �����	  ����
	 ��������
	
�� ����
	 ����#	 ��
	 �	  �����	  ����
	 � ���'��
�	 �� ����
��	 	 A���������	 !��'-����7��	
� ���'���	�����7��	�������� ��	��	�������� �	�	��������	��!����� ��	�� ����
�����	

A������	��
����'#	���	����	�� ��	�����������	!��'-����7��	��	 �������	�������������!�	
������������!�	  �����#	 ����	 ��	 ����	  ���
	 ���� ��	  	 �� �����
	 ����	 �	 ������	 �����#	 �������	
����������	 ���	 ������������!�	  ������	 )�������, �
��'�����	 
�  �	 �����7��	 �������	
��������
	��������!���������	�� ���	���	����
���	��  �����	�� ��� ������	������������!�	
 ������	 I��� ���#	 ���	  ���� �'	 ���������7��	 ������������	 �� ���	 ��������'��	 ����	 ��
	 �	

�������������#	 �����
	  	 ����������
	 �� ��	 �!��������	 ���
��	 
����	 ������ ��'��
�	
!�����
� �	 ��������� ���	 ���� �����	 ��	 ����7������	  �� ���� �'	 �	 ���������7��	  ������	
����� ����#	 �� ��!��	 
�� �
�
�	 ���	 !��������
	 �� ����#	 �	 ����
	 �
��'���� � [8]. 9�������	

�� �
��'��
	 ������	���������	�
��'��(� �	 	����������
	�� ��	�!��������	���
��	
����	
������ ��'��
�	 !�����
�#	 ���	 ��������������'��	 �����������	  	 ����7�����
	  �� ���� �'(	
������������	�� ���	�	����7��	���������7���

A�����'	 ���������	 ������ �	 �����
	 ��������� ����
	  ����!�	 ����
���#	 ��	 ��	 ���������	
�7����'	������ �'	 �����	�	��  �����'	 ����((	
����������(	
�  �	 �����	
����	 �����
��	
H��'-����7��	 �������������	 ���(	  ����!�	 ����
���	 �	 �����7��	 9����� �������
	  ���� ��
	
���������	 �	 ��� ����	  ���� ��
	 ���������	 ���������	  �����������'	 ����
���	 �� �����	
����� �������	  ��� ��	  	 ��������
	  ���� �'(	 �� ����������	 ����� �������	  ��� �� �	
������������'	�����������	
�����������	��� ���'���	
����������

A�� ��	� ���'��������	� ��������
1. N�����#	 A�,�#	 ������������
	  ����	 �	 �!�	 �����������3	 A�,�N������	 - L�?��	 I���	 ;,	

AAA:�- 8�
	+�	-1960. -%%4	 �
2. M
 ���#	 	 I�;�	 H�������'���	 	 �� �����	 	 ��	 	 � ����	 ������������!�	  �����	 ���	

�

�������7��	���
�����3	I�;�	M
 ���#		L�)�		O������#		)�;�		P�������			33O����!�	��
���	-
1979. -8�	%�	-J+1. -A�	+54B-1734. 

3. A���7������	 ����������	 ������������	 ��	 ���������	  ����
	 ������������
	  �����3	
H�������		;�,�	E�	���=	33Q����	����	��
���	-2005. -8�	5R�- J5�	-A�	+04%-1327.

4. :���������	 ��7�����'��
	 ��� ����7��	 
��� ��-�������	  	 � ���'�������
	

�����7��������!�	 ���������3A
������	 A�)� E�	 ���=	 	 A������	 �������	  ����
	 �	
�� ��
�����
	S��
���	)�;�	T��
����	�� ������ �U#	L�� F�0�	– 2014. – A�	+44-129.

5. "��������#	 V�V�	 I  ���������	 ���������� ��	  �� ����	 
�������7��	 ���������	 ���	
�����!��	 3	L������	 ������	 – �������(	 ��� ���'��
	 �	 ��!��
	 ���
������� ��	 $��� �	 –
2012) 3	 V�V�#	 "��������#	 A�H�	 A����� 33	 A������	 
���������	 
������� ��
	 ������-
������� ��
	��������7��	� ��������	�  ��������	�	F.1. – I�������	IH8;#	46+4�	– A�B1-85.

6. ;��� ���#	I�A�	A�����	����	 	�������7����
�	 ��
 ���
�	��	����
�����	�������
�����	
�������3 I�A�	;��� ���#	A�H�	A�����#	I�;�	P��������33)� ����	)H8N	)� ����	)H8N	�	– 2013. 
– )���	4%�	– A�5B-81.

7. I  ���������	���������	����������� �����3	H������	>�T�	 E�	 ���=33	L��������	��������	
1C	:,8" )H8N#	)���� �#	46+0�	- A�	46%-206.

8. http://www.ngpedia.ru/id435076p3.html
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A����
�����	
���7���	�	�����������	� ���'����	�������������	 ��� ���	���	�������	���	
[1,2]. )	�� ������	���
� ���!	��������
	���	���
������	�������	��������'��	�� ����� ��	
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